SERVICE QUOTE - DO NOT PAY

8 Industrial Drive West Emerald Park, SK S4L 1C6 CA Quote: 01-8807 Date: 11/30/2024 PO: C7800434#1 CustId: WEBERPAULJ

Phone: (306) 525-2300

Fax: (306) 525-3399

Cust Email: weber.acres@hotmail.com Phone: (306) 577-1204

Email: info@cawhc.com Web site: cawhc.com

Salesperson: JJones **TGuest** User:

Bill To:

GST#805679776 RT0001

Ship To:

Weber Acres

Weber Acres P.O. Box 34

Carlyle, SK S0C 0R0 CA

11/30/2024 Opened:

Work Order No:

01-

Pickup Date: Unit No: Unit Serial:

11554 C7800434

740TT Lexion 2018 (#1) Unit Desc:

Unit Meter: 1,624.0 Hours Responsible Tech:

My Ref: Lexion 740TT

Delivery Date: Unit Make: Unit Model:

Unit Tag:

Class 740TT N367

2025 Field Inspection

Item	Туре	Description	Qty	Tax	Price	Discount	Net Price
Inspect combine							
		Inspect combine at customer location.					
	SL	Customer Field Labour					\$0.00
					Segm	ent Total:	\$0.00
Service combine							
		Perform service. Change - engine oil and filter - fuel filters - engine air filters - cab filters - add grease to autogreaser					
	SL	Customer Field Labour					\$0.00
CL1474800	PA	CLA - AGRIMOT PROTEC 15W-40 NA 20L	1.0000	Υ	\$155.35		\$155.35
1474810	PA	CLA - AGRIMOT SDX 15W-40	3.0000	Υ	\$59.73		\$179.19
7983031	PA	CLA - ENGINE OIL FILTER	1.0000	Υ	\$74.82		\$74.82
7992081	PA	CLA - FUEL FILTER	2.0000	Υ	\$46.88		\$93.76
7992091	PA	CLA - FILTER ELEMENT	1.0000	Υ	\$87.60		\$87.60
0773672	PA	CLA - Primary Air Filter	1.0000	Υ	\$312.26		\$312.26
5646982	PA	CLA - Cab Filter STANDARD	1.0000	Υ	\$88.94		\$88.94
2417931	PA	CLA - AGRIGREASE EP 3 TUBE	8.0000	Υ	\$9.08		\$72.64
					Segm	ent Total:	\$1,064.56
Horn							
		Horn doesn't work. Replace horn.					
	SL	Customer Field Labour					\$0.00
0717292	PA	CLA - HORN	1.0000	Υ	\$109.05		\$109.05
					Segm	ent Total:	\$109.05
Orbitrol valve							

SERVICE QUOTE - DO NOT PAY

8 Industrial Drive West Emerald Park, SK S4L 1C6 CA Quote: 01-8807 Date: 11/30/2024

PO: C7800434#1 CustId: WEBERPAULJ

Phone: (306) 525-2300 Email: info@cawhc.com

Web site: cawhc.com

Fax: (306) 525-3399

GST#805679776 RT0001

Cust Email: weber.acres@hotmail.com

Phone: (306) 577-1204

Salesperson: JJones **TGuest** User:

Bill To: Ship To:

Weber Acres P.O. Box 34

Carlyle, SK S0C 0R0 CA Weber Acres

		Orbitrol steering valve below cab floor is leaking. Replace all 4 o-rings between steering valve body and hydraulic lines. Re	emove lines and	l fittinas	and replace o-rings	
	SL	Customer Field Labour	oovooo a	90	and replace e miger	\$0.00
2158390	PA	CLA - O-RING	4.0000	Υ	\$8.46	\$33.84
					Segment Total:	\$33.84
Feeder chain						
		Feeder chain is worn. Chain rollers dished. Excessive play between chain	n links. Replace	chain.		
	SL	Customer Field Labour				\$0.00
5181871	PA	CLA - CONVEY.CHAIN CPL.	1.0000	Υ	\$3,007.26	\$3,007.26
					Segment Total:	\$3,007.26
Feeder house						
		Feeder house floor plastic wear strips worn out. Replace wear strips.				
	SL	Customer Field Labour				\$0.00
6305700	PA	CLA - SLIDE RAIL	4.0000	Υ	\$48.68	\$194.72
2349530	PA	CLA - M8 x 20 8.8 CH	12.0000	Υ	\$0.95	\$11.40
2393870	PA	CLA - WASHER, CONTACT	16.0000	Υ	\$0.18	\$2.88
2353621	PA	CLA - M8 x 60 8.8 CH	4.0000	Υ	\$1.92	\$7.68
2361700	PA	CLA - M8 HEX NUT	16.0000	Υ	\$0.26	\$4.16
					Segment Total:	\$220.84
Dust extractor						
		Dust extractor drive belt cracked. Replace belt.				
	SL	Customer Field Labour				\$0.00
3257281	PA	CLA - Dust Extraction Belt V/HP	1.0000	Y	\$42.24	\$42.24
					Segment Total:	\$42.24
Feeder cylinder						
		RH feeder lift cylinder leaking badly. Cylinder rod chrome peeling off in mreseal cylinder. OR	nany areas. Tak	e apart	cylinder. Replace rod and	
		Replace cylinder. New hydraulic cylinder 2653\$				
	SL	Customer Field Labour				\$0.00
0427652	PA	CLA - PISTON ROD	1.0000	Υ	\$946.64	\$946.64
2186480	PA	CLA - ROD GUIDE RING	1.0000	Υ	\$48.35	\$48.35
2168730	PA	CLA - ROD GUIDE RING	1.0000	Υ	\$28.61	\$28.61
2176890	PA	CLA - PISTON SEAL	1.0000	Υ	\$126.82	\$126.82
2124760	PA	CLA - O-RING	1.0000	Υ	\$19.43	\$19.43
2158370	PA	CLA - O-RING	1.0000	Υ	\$3.12	\$3.12

SERVICE QUOTE - DO NOT PAY

8 Industrial Drive West Emerald Park, SK S4L 1C6 CA Quote: 01-8807 Date: 11/30/2024

PO: C7800434#1 CustId: WEBERPAULJ

Phone: (306) 525-2300

Fax: (306) 525-3399

Email: info@cawhc.com Web site: cawhc.com

GST#805679776 RT0001

Cust Email: weber.acres@hotmail.com Phone:

(306) 577-1204

Salesperson: JJones **TGuest** User:

Bill To: Ship To:

Weber Acres P.O. Box 34

Carlyle, SK S0C 0R0 CA Weber Acres

2176950	PA	CLA - O-RING	1.0000	Υ	\$2.83	\$2.83
2168740	PA	CLA - DOUPLE SCRAPER	1.0000	Υ	\$21.77	\$21.77
					Segment Total:	\$1,197.57
APS Anchors	-					
		5 APS anchors bent. Straighten bent anchors.				
	SL	Customer Field Labour				\$0.00
					Segment Total:	\$0.00
Disawning plate						
		Second row of disawning plates middle plate missing. Remove APS grates and replace second row of disawning plates.				
	SL	Customer Field Labour				\$0.00
7574331	PA	CLA - COVER	1.0000	Υ	\$330.25	\$330.25
					Segment Total:	\$330.25
ITS hardware						
		ITS hardware worn. Replace ITS hardware.				
	SL	Customer Field Labour				\$0.00
2373820	PA	CLA - M10x20 Hex Bolt	6.0000	Υ	\$0.95	\$5.70
2393941	PA	CLA - WASHER, CONTACT	6.0000	Υ	\$1.01	\$6.06
					Segment Total:	\$11.76
Unloading Chain						
		Unloading auger drive chain connecting link cotter pin broken. Replace of	cotter pin.			
	SL	Customer Field Labour	·			\$0.00
					Segment Total:	\$0.00
Hyd.tank			,			
		Hydraulic suction hoses connected to tank sweating with oil.				
	01	Reposition and retight hose clamps.				40.00
	SL	Customer Field Labour			0	\$0.00
Maria and Product					Segment Total:	\$0.00
Wheel light						
		LH rear wheel light out. Replace bulb.				
	SL	Customer Field Labour				\$0.00
0137300	PA	CLA - LAMP	1.0000	Y	\$29.68	\$29.68
					Segment Total:	\$29.68
Chopper knives						
		Rotational chopper knives worn on one side. Flip chopper knives.				

SERVICE QUOTE - DO NOT PAY

8 Industrial Drive West Emerald Park, SK S4L 1C6 CA Quote: 01-8807 Date: 11/30/2024 PO: C7800434#1 Custld: WEBERPAULJ

Phone: (306) 525-2300

Fax: (306) 525-3399

Email: info@cawhc.com Web site: cawhc.com

GST#805679776 RT0001

Cust Email: weber.acres@hotmail.com

Phone: (306) 577-1204

Salesperson: JJones User: TGuest

Bill To: Ship To:

Weber Acres

P.O. Box 34

Carlyle, SK S0C 0R0 CA

Weber Acres

	SL	Customer Field Labour				\$0.0
					Segment Total:	\$0.0
Radial spreader			,			
		Radial straw spreader LH upper deflector arm bearings have excessive Replace hydraulic cylinder broken mounting bolt.	ve play. Replace be	arings o	n upper and lower arms.	
	SL	Customer Field Labour				\$0.0
2175440	PA	CLA - ANG. BALL BEARING	2.0000	Υ	\$119.21	\$238.4
2175450	PA	CLA - GRVD.BALL BEARING	2.0000	Υ	\$134.62	\$269.2
2113450	PA	CLA - BOLT HEXAGONAL	1.0000	Υ	\$5.44	\$5.4
2393890	PA	CLA - WASHER CONTACT M12	1.0000	Υ	\$0.86	\$0.8
2333230	PA	CLA - M12 Lock Nut 10.9	1.0000	Υ	\$2.38	\$2.3
					Segment Total:	\$516.34
Clean fan drive						
		Cleaning fan drive stage1 belt cracked. Replace belt.				
	SL	Customer Field Labour				\$0.0
6679570	PA	CLA - V-BELT Stage 1 Cleaning Fan	1.0000	Υ	\$87.10	\$87.1
					Segment Total:	\$87.1
Rotary screen						
		Rotary screen seal is missing. Glue in new seal.				
	SL	Customer Field Labour				\$0.0
14973890	PA	CLA - RUBBER SEAL REPAIR KIT	1.0000	Υ	\$132.14	\$132.1
					Segment Total:	\$132.1
Screen drive						
		Rotary screen drive belt tensioner seized. Unseized tensioner.				
	SL	Customer Field Labour				\$0.0
					Segment Total:	\$0.00
Speeds						
		Can't learn speeds. Spread variable pulleys and blow out chaff from in	nside of pullevs. Gr	ease and	d cycle pulleys.	
	SL	Customer Field Labour				\$0.0
					Segment Total:	\$0.0
Blow & Clean	-			-		Ψοιον
2.0.11 & 0.04.1		Blow all drive and driven pulleys and extra time spent on insuring the Blow behind the variable speed pulleys Open tail board and blow out the spreader drive system Open radiator compartment and clean all engine and oil coolers Blow above transmission and reach in behind and below transmission		cleaned	out completely	

SERVICE QUOTE - DO NOT PAY

8 Industrial Drive West Emerald Park, SK S4L 1C6 CA Quote: 01-8807 Date: 11/30/2024 PO: C7800434#1 Custld: WEBERPAULJ

Phone: (306) 525-2300

Fax: (306) 525-3399

Email: info@cawhc.com Web site: cawhc.com

GST#805679776 RT0001

Cust Email: weber.acres@hotmail.com

Sub Total:

Total Tax:

Invoice Total:

Phone: (306) 577-1204

Salesperson: JJones User: TGuest

Bill To: Ship To:

Weber Acres P.O. Box 34

Carlyle, SK S0C 0R0 CA

Weber Acres

		Blow above and behind Fuel and DEF tanks Remove all covers and blow all areas to remove any chaff and fine dust		
	SL	Customer Field Labour		\$0.00
			Segment Total:	\$0.00
Belts & Chains				
		Adjust all belts and chains to proper operating tensions.		
	SL	Customer Field Labour		\$0.00
			Segment Total:	\$0.00
Test run				
		Perform operational test run after all repairs are complete.		
	SL	Customer Field Labour		\$0.00
			Segment Total:	\$0.00
Small things				
I		Small things: -TT tracks inner logs in poor shape - Feeder house upper dust shield bent - radial spreader fingers rubber mounts worn through will last one more season - header engagement switch slightly loose - filling auger worn will last one more season		
	SL	Customer Field Labour		\$0.00
	1		Segment Total:	\$0.00
		Parts:		\$6,782.63
Fotals				

\$6,782.63

\$7,121.75

\$339.12